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1. ﬂm'cﬁ?l’ 3fHaTg efca Hr $3~Tl§ FIT §? Unit of magnetic flux density is
A. %’Hﬂ Henry
B. THAT Tesla
C. ™Iq Farad
D.daX Weber
2. grashrg gerd # dMVew gifer qeaa: & asiw F & & In a magnetic material,
hysteresis loss takes place primarily due to
[A] 3AaE gdca & g&—dcﬁlq oT ¥ 9IAT Flux density lagging behind
magnetising force
[B] 31f0gsh 9R ©WUT Molecular friction
[C] 31:@? 3Td YRR gl & HROT its high retentivity
[D] ﬂﬁ?ﬁ—r &1 3rfaier 3chaoT rapid reversal of its magnetisation
3.9 3T E;l,?-_sﬁﬁ'q gRger & E'Hﬁif STell SITdr % EFqﬁ-T ) An air gap is usually

inserted in magnetic circuits to

A. 'H?ﬁ%cf YRT I El'cﬂ?—ﬁ %’ increase saturation current

B. ?}E‘cﬁﬂ 3-1'@31%’ FT "erdr %’ decrease the magnetic flux
. 39T & 9T ¥ 99« & [T avoid fringing effect
AR A EhAlg #Y ST none of these

4. 31 dTYHT §6dT & dF 9 HI YTaRIT When temperature increases, resistance of
copper

A. dgdl %’ increases

B . ¥Ycdr %’ decreases

C .8l dgaldr will not change

D. Hﬁq?ﬂ?T R AR Far g dependent on the application

o O
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5. dTelehcd T schlé FAT § Unit of conductance is

A . 3EH Ohm
B.aﬂ?-cr-iﬁaz Ohm-meter

C. @A«H Siemens
D . %cil#d Coulomb
6. %QE gfaelr eRr &1 afea a0Th AT &The power factor of a purely resistive circuit is
A. R[eT zero B.Tsh unity
C . 9ddT lagging ' D . 3IdT leading

7. T dR & YUY r Aerd ¢ | IR H a8 N GEET R W ORI g

Resistance of a wire is r ohms. The wire is stretched to double its length, then its resistance in
ohmsis

A.r/2 B.4r

C.2r D.r/4

8. AT 12 3EA F 9oy FHGR H 3R 10v e & IR IR el §, S &

Aehclel dTell &RT 19 Three 12 ohm resistors are connected in parallel and connected
across 10V battery, current drawn from the battery will be

A.1.2 3I9RR Ampere
B.1.6 3R Ampere
C.2.5 37U Ampere
D.1.0 34X Ampere
9. Tfae guRF &7 39AeT fRAT STAT § Static Capacitors are used for
A . afEd W F T Power improvement
B.YRT guUR & T Current improvement
C . dreedr ijilﬂ & T Voltage improvement
D . fd 0T FUR % TIT Power factor improvement.
10. &1 FUIRA C13-ﬂT C, Soft & gafeua %I JHTSr FUTREAT m Two capacitors C; & C;

are connected in series, effective capacitance will be
A.(Ci1C)/ (Ci+ Cy)
B.Ci/ G
C.CG+ G
D.GC-GC

11.dg dI9HATA GI'ST an?j' 3YeT dddehcd @ &ar %‘I’emperature at which a material loses
its magnetism is
A.W‘\ff dTY9&HTeT Curie temperature
B.HT JTIHT Tesla temperature
C . HehAUT dTYAT Transition temperature
D.gd-ﬂdwcd dIYHleT Magnetic temperature
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12. A.C HTgeT AT T dleedrl YT & @l dlee ds Feolal & | 30 f3af deator ™

Thdall areed gla I | Foran a.c. sine wave, voltage varies from zero to 100 V maximum.

How much is the voltage at the instant of 30 degree.
A . 87 Volts B . 100 Volts C .58 Volts D . 50 Volts

13.30R T 220 dlec & d9eh 110 dlec Yeld IRl § al FSAT &7 3cdieed gl If a
220V heater is used in 110 V supply, heat produced by it will be

A. 3TET One-half B. alaolo_-lllwice
C. T+ fﬁ?ﬂé One fourth D. IR JIT Four times

14. 3?13}1 T fRae Q{Iad\gdﬁ FEH FIET § Which medium has highest value of dielectric
strength?

A.HATST Mica B.9RETeTS Porcelain
C. Thfeadh Quartz D. T Glass
15. 25 Hz & ST 3Mgfcd &I e & 31w A d& qé’uﬁ A gAY Jerdr §

a.c Time taken by sinusoidal a.c frequency 25Hz to rise from zero to its maximum value is
A. 0.02 seconds
B. 0.01 seconds
C. 0.005 seconds
D. 0.5seconds

16. glr{-!-h\ld-cli T fgled W S AT & Transformer works on the principle of
A. TI-9ehca Self inductance
B. 3edled Yehcd Mutual inductance
C. W8 1 fdegd dahg gled Faraday’s laws of EMI
D. EI-9hcd 3R Hedled WRehcd Self and Mutual inductance
17. TEHER H Fav oRT g Reafaf@a [/ CART &H ¥ HH BT gEddy current

loss in transformers is minimised by following method

A. 3T YTaRIgshdr R gere High resistivity core material
B. @fAsIc8 &R Laminated core
C. = A 3R B BothAandB
D. W &T & & c‘fﬁ’é’ o8l None of the above
18. aarq?mt@r geTar Afehas @?—ﬁ' %’ ofd The efficiency of a transformer is maximum

when

A. FE 3N qUT HR 9T TAAT § It run at half full load
B. dg q‘;tﬁ' AN 9T deldr ’(-.} It runs at full load
c
D

. 891 Cu {’aliﬁ FﬁE{ Eli?l & e ET Its Cu loss equals iron loss
old dg IR 9T IFoIar % It runs overload
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19. gﬂ!ﬁﬁ?% Z‘Iﬁ?ﬂﬁ dlecdr &l aqﬁaglail The frequency of the secondary voltage

of a transformer will be
A . 9TUfAS dleedr i Hﬁ%l}l &hH Less than the frequency of the primary voltage
B. UrUfAe® dleedl & RTeX Equal to the primary voltage
c.urafAs reedr $r 31lcyr?d ¥ SIGT  Greater than the frequency of the primary voltage
D . UrfAs dleedr &hr 31Idjc\d I dgd SgIal  Very much greater that the frequency of the
primary voltage
20. glr(—&-bld-cli $r areedl Aq9Td gIdT § The voltage ratio of the transformer is given as
A . Es/Ep B.Ts/Tp
C.Te/Ts D . Ep/Ts
21. 220/6 V, 50 Hz SEPIFT T GrAITASH FHseld & Folldel 110V, 60 Hz Y&rd & fohvam

I=T ar ajfa?ﬁum feTHT dleedl g3 The primary winding of a 220/6 V, 50 Hz transformer

is energized from supply. The secondary output voltage will be
A.3.6V B. 25V
c.3.0Vv D. 60V

22. TEHIR T GFahi ifFag &NOT T g8h GaRT ~goAdH Fd § Magnetic flux

leakage is reduced to a minimum in a transformer by

A TrafAe AR efadae F3eld F 3ed: II0T F & interleaving primary and
secondary winding '

B. f;hSolu-i 3l dgd Tl C[FWUT FH giving very good isolation to windings
C.HR &F Y&l HX b laminating the core
D.3WeFd H & Eﬁfé &l None of the above

23. faafaf@a & @ Tt Sofe Sheal &1 wifeld ST #eTdd & Which of the

following generating station has the minimum running cost?

A gdr ﬁa}gﬁ' e Hydro-electric station
B. AARIT Fall g Nuclear power station
C. aT FaiT g Thermal power station
D . SI5TeT 3o &g Diesel power plant
24. 3T dlecdl FAC U1 H gl & gHAE A HH e & AT D.C. HeROT

a7 # I yaiaT Fe I %’ In order to reduce the harmful effects of harmonics on the A.C.
side of a high voltage D.C. transmission system are provided.

A. Wﬁﬂ' F3aq synchronous condensers
B. 2/ TUTRA shunt capacitors

C. 2ie e shunt filters

D.&fa+ Eﬁﬁw static compensators
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25. fefof@d & @ et At &7 e oo 3Ot SARET & Which of the following

motors has a high starting torque?

A .AC FufT HeT AC series motor B.DC oft HeT DC series motor
C. 9ROT AT Induction motor .. Z:I’Fq'cl?l?fﬁ HAICX Synchronous motor
26. DC HICI &I dlecdl AT % Voltage equation of a dc motor is

A.V:Eb+|aRa B.Ei=V +15R,
C.V=E /1,R, D.V =E, +1,2R,

27. WOT A & JeFhlell AT R 300 7T & IR F F5d § The difference

between the synchronous speed and the actual speed of an induction motor is known as
A s WQH Regulation B % ol back lash

c. e slip D.a?Tlag

28. DC #feT &1 GFaRacds A commutator in a d.c. machine
A.3THRR & NIEGE: Eﬂﬁ' FI HH HIAT %‘ Reduces power loss in armature
B.&F gRUY A ST &Hr E’lﬁ F HH FAT %‘ Reduces power loss in field circuit
c.9RTa.c ITARR dreedl & WcgeT dreedr & dceldr %’ Converts the induced

a.c armature voltage into direct voltage

D.SR*Tff Fl?f % Is not necessary
29. T 2T IeReX 2000r.p.m & Told U 100V EMF 3cUTfed e &1 Ifg aifay &g

$T 3000 r.p.m &< &r ST ar 3curied EMF frdar g‘l:u ? A shunt generator running at

2000 r.p.m has generated emf of 100V.
If the speed increases to 3000 r.p.m,the generated e.m.f will be

A.100V B.750V C.1250V D.150V
30. 7 STEEAT 400V SROT FHeX @RT RAFHAT o HOT ¥ 100 N-m. AR ST

dleedl &l Tee 200V & A o & {eaa g 3HTOT §RT Torque developed

by a three-phase, 400 V, induction motor is 100 N-m. If the applied voltage is reduced to 200 V,
developed torque will be,

A. 50 N-m B. 25 N-m

C. 200 N-m - D.62.5N-m

31. Th DC A0l AT AR A I, URT 9o & §U Eeod ded Rufy & &
AT %’l. AlY ¥ Ffaa s 3-1T¥T‘J'\Ui' I3 m 8?2 A DC series motor drawing an

armature current of I, is operating under saturated magnetic condition. The torque developed in
the motor is proportional to
A 1/l
B. 1/1,°
2
C Iy
B Iy
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32, T Y@ VT A d: g @HT %’ Transmission line insulator is usually made of
A . Porcelain
B . Glass
C. Mica
D . XLPE
33. WehTr &1 a1fd § Light travels with a velocity of

A . 3x108 cm/sec
B .3x10® m/sec
C .3x10° cm/sec
D .3x10° m/sec

34. éié?& H 37 TTTeh W bl aidl %’ Number of semiconductor layers ina

transistor is
A.2
B.1
Cc.3
D.6

35. gIEaTeh fohds ded § Triacis equivalent to
A. @rSCRs ST FATIR & gefeud ET two SCRs connected in parallel
B. @rSCRs St udT AR & geieud ?fftwo SCRs connected in anti parallel

C. T SCR 3 T AT &Y THATCGK & HfeTd & one SCR and one diode
connected in parallel

D. E?FJ?T a aﬂé gl None of these
36.@%3{%&%3:@31MOSFET}ﬁTBJT%H@HﬁvﬁaﬁMﬁHW%

A modern semi conductor device that combines the characteristics of MOSFET and BJT is
A. IGBT B. MCT
C.GTO D. SIT

37. 2 $IYC Aol dIC & 33T 0" & fa% ik &% qa o9 saqecy A gl
I ITE sﬂﬁg fIT The output of a 2 input logic gate is “0” if and only if its inputs are

unequal. It is true for
A. XNOR B. AND
C. NOR D. NAND

38. fAfaerra 3k FHfTH & PN Se2d & knee dleedl &1 The knee voltage of silicon

and germanium PN junction is,
A. 0.3V,0.7V B. 0.4V,03V
C. 0.7v,03V D. 0.1V,0.7V

39.Ush {&H o /T & gFEega: Hid F I3 @?T %I A microcontroller normally has
which of the following devices on-chip?

A. T ROM B. 3T RAM
C. 1/0s D. 3WIed THT all of the above
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40. GIXOT Y@T & dTeleh & 3curfed 3adaT AR F=ar %’I The sag produced in the
conductor of a transmission line depends on

A. TTeleh & 9fa o g O Weight of the conductor per unit length
B. dTelh H JeAd U Tension in the conductor

C. dTeleh &I Ffa’l'é' Q Length of the conductor

D. 3UIFd T all of the above

41. R IT wehrer - d\lm:Isch T deodr %LI The solar or photo-voltaic cell converts
A. IEEfAS FaT F ﬁag?ﬂﬂ ol & chemical energy into electrical energy
B. T {feor &r ﬁ?@?—ﬂ'& ST F solar radiations into electrical energy
C. O RfRor Fr ardg 337 #F solar radiations into thermal energy
D. ATdT Fal &Y ﬁag?-ﬁ?l Foll # thermal energy into electrical energy

42. CHAT T&IAT 14 &7 E"ﬁ 3TERY W € Binary equivalent of decimal number 14
A.1110
B. 1010
C. 1000
D. 0101

43. R & IRT EMF &1 qRATT 98T &7 F Hmﬂmﬁlﬁ gdT & Magnitude of

E.M.F induced in a circuit is directly proportional to

A. W 37TATTE A the magnetic flux
B.37TAATE & 3THATT T the size of the flux
C.3fAa® & g T X I rate of change of flux
D. 3WIFd & & ﬁé &l None of the above
44. SgEfshg 100 V 9 T I r.m.s. 1 AT § glec The r.m.s. value of

sinusoidal 100 V peak to peak is volt
A.100/V2 B.50/V2
C.50 D . 100

45. 3ieellc & 31gEAT H, RLC IRTY ST §dTd Under the condition of resonance, RLC

series circuit behaves as a

ARG ¥T § gferedr aftger shar Purely resistive circuit
B. jIg &9 T WF aRay o) Purely inductive circuit
C. aridar aRger Capacitive circuit
D . 3rfAfhareler aRaer Reactive circuit
46. et TR fSrAehr i &1 8yF, 16uF 3R 32pF ¥ A0 & Fafeua ¥ qot emfar

élail Three capacitors of value 8uF, 16uF and 32pF are connected in series, the total

capacitance will be
A.32/7 uF B. 7.32uF  C.56 F D. 32 uF
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47.91 T YRIAEGCT § Permeability of air

A . 8.854x10™ F/m
B. 4rx107 H/m
C. 2rnx107 H/m
D. 8.854x10™ F/m

48.DC HMA W Hopkinson's test fAT SATAT & Hopkinson's test on DC machine is conducted
at
A EI;USr HAR 9X Full load

B .37 HR W Half load
C.HE AR W gl Noload
D.3RFd H & EFﬂ'é’ ;rc?r None of the above.
49.’3?% GEC W%Q'Tlgg qTSeT LT &l wiey theel FAT § Form factor for a full wave

rectified sine wave is
A.111
B.1.57
C. 116
D.1

50. fo=T Mo & ET\UST T IFethay &1 oaer theeT FAT & Ripple factor of a full-wave

rectifier without filter will be
A.0.2 B.0.48
C.0.24 D.1.21

51. R 0T $T gRATST § Load factor is defined as the ratio of
A 39T AT / 37T H HET Average Demand / Max. Demand
B. 3¥frsad AT/ 339d ART Max. Demand / Average Demand
c.3ga AR F9foud @R Average Demand / Connected Load
D. Haieud HR/ 31f&eds AT Connected Load / Max. Demand
52.  Watt hour Toh&ehT 375@ & Watt hour is the unit of

A . faegdg afFd Electric power B . Tl &7 TElectric capacity

C. %a:g?-ﬁﬂ oIl Electric energy D. ﬁ?{g’éﬁ'ﬂ' HIUT Electric charge
53. faeafaf@a T gcs afshg gcw ?‘ The following components are all active
components

A . T YfoRree 3R T & a resistor and an inductor
B.U& SRS, Ush BJT 3iR U FET adiode, a BITand an FET
C.T&h TUTRF 3R T& 9&F a capacitor, and an inductor

D.Teh Op-amp, Tsh BIT 3 TH thermionic triode an Op-amp, a BIT and
thermionic triode
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54. 3Mee! HFhReE Yauie &l ge1qC YfdSTeT & Ideal operational amplifier has input

impedance of
A.1MQ B . infinity
C.zero D.16

55. 3§ BRAS 91U Ush il SE EE3 w giar % ar dg When forward bias is
applied to a junction diode, it
A. 81T Ty dedr %’ increases the potential barrier
B.fd%ma T werar & decreases the potential barrier
C.dg%i{eqeh dTgeh YRT I I+ desh "crdr %’ reduces the majority-carrier current to
zero

D. oUuEdsh digsh YRT &l [ deh "Il %’reduces the minority-carrier current
to zero

56. A Secl Hlwd TOTelr T I@T URT I, §, dl YEEAT URT SHF S Rl I the

line current in a delta connected system is I, , then phase current will be equal to

Al B.IL;, V3
C. V31 D.I/V2
57 59 ﬂ@?ﬂra\?&m A Evaluate the matrix [4 - ]
2 t
A. 26 B. 14
C -14 D. -26

58. Ueh AT 0T I GU-HAT I & s=t’-4t+ 1| Ig THT A Hio o o

HHATCT & SATAT §  The distance time formula of a moving particle is given by s = t*- 4t + 1.

Find the time when the velocity vanishes,
A 1sec B. 2 sec
C. 0 sec D. None of these

59. AT # & HleT 18, 24, 36 &1 TIHTH (HCF) §  Which of the following is the

highest common factor of 18, 24, 36

A 6 B. 8
C. 36 D. 72

60. =af@a & sl & Ej\?ﬁ'ﬂﬂ' forer @€ & Which of the following Boolean rules is

correct?
A. A+0=0 B. A+1=1
C. A+A=AA D. A+AB=A+B
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ANSWER KEY — QUESTION BOOKLET CODE ‘A’

Q”:f:_m" Answer Key Qu;f:.ion Answer Key Qu,f,sot.ion Answer Key
01. B 21. C 41. B
02. C 22. A 42. A
03. A 23. A 43. £
04. A 24. c 44, B
05. C 25, B 45. A
06. B 26. A 46. A
07. B 27. o 47. B
08. C 28. C 48. A
09. D 29. D 49. A
10. A 30. B 50. B
11. A 31. D 51, A
12. D 32. A 52. C
13. C 33. B 53. B
14, A 34, C 54. B
15, B 35, B 55. B
16. D 36. A 56. B
17. C 37. A 57. C
18. c 38. C 58. B
19. B 39. D 59. A
20. A 40. D 60. B




